VCE & PDF https://www.passapply.com/200-120.html
2021 Latest passapply 200-120 PDF and VCE dumps Download

PassApply.com

200-1209%As

Cisco Certified Network Associate Exam

Pass Cisco 200-120 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.passapply.com/200-120.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Cisco
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 200-120 Dumps | 200-120 PDF Dumps | 200-120 VCE Dumps 1/9


https://www.passapply.com/200-120.html
https://www.passapply.com/200-120.html
https://www.passapply.com/200-120.html

VCE & PDF https://www.passapply.com/200-120.html
2021 Latest passapply 200-120 PDF and VCE dumps Download

PassApply.com

QUESTION 1

The network administrator is asked to configure 113 point-to-point links. Which IP addressing scheme defines the
address range and subnet mask that meet the requirement and waste the fewest subnet and host addresses?

A. 10.10.0.0/16 subnetted with mask 255.255.255.252

B. 10.10.0.0/18 subnetted with mask 255.255.255.252

C. 10.10.1.0/24 subnetted with mask 255.255.255.252

D. 10.10.0.0/23 subnetted with mask 255.255.255.252

E. 10.10.1.0/25 subnetted with mask 255.255.255.252

Correct Answer: D

We need 113 point-to-point links which equal to 113 sub-networks
The network used for point-to-point connection should be /30.
So our initial network should be 30 ?7 = 23.

S0 10.10.0.0/23 is the correct answer.

You can understand it more clearly when writing it in binary form:
/23=11111111.1111 1110.0000 0000

/30 =11111111.1111 1111.1111 1100 (borrow 7 bits)

QUESTION 2

Which characteristics are representatives of a link-state routing protocol? (Choose three.)

A. provides common view of entire topology

B. exchanges routing tables with neighbors

C. calculates shortest path

D. utilizes event-triggered updates

E. utilizes frequent periodic updates

Correct Answer: ACD

Each of routers running link-state routing protocol learns paths to all the destinations in its "area" so we can say
although it is a bit unclear. Link-state routing protocols generate routing updates only (not the whole routing table) when

a change

occurs in the network topology so Link-state routing protocol like OSPF uses Dijkstra algorithm to calculate the shortest
path ->.
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Unlike Distance vector routing protocol (which utilizes frequent periodic updates), link-state routing protocol utilizes
event-triggered updates (only sends update when a change occurs) ->.

QUESTION 3

What information does a router running a link-state protocol use to build and maintain its topological database? (Choose
two.)

A. hello packets

B. SAP messages sent by other routers

C. LSAs from other routers

D. beacons received on point-to-point links

E. routing tables received from other link-state routers

F. TTL packets from designated routers

Correct Answer: AC

Neighbor discovery is the first step in getting a link state environment up and running. In keeping with the friendly
neighbor terminology, a Hello protocol is used for this step. The protocol will define a Hello packet format and a
procedure for

exchanging the packets and processing the information the packets contain.

After the adjacencies are established, the routers may begin sending out LSAs. As the term flooding implies, the
advertisements are sent to every neighbor. In turn, each received LSA is copied and forwarded to every neighbor except

the one

that sent the LSA.

QUESTION 4
Scenario Refer to the topology. Your company has decided to connect the main office with three other remote branch

offices using point-to-point serial links. You are required to troubleshoot and resolve OSPF neighbor adjacency issues
between the main office and the routers located in the remote branch offices.
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An OSPF neighbor adjacency is not formed between R3 in the main office and R6 in the Branch3 office. What is

causing the problem?

A. There is an area ID mismatch.

B. There is a PPP authentication issue; the username is not configured on R3 and R6.

C. There is an OSPF hello and dead interval mismatch.
D. The R3 router ID is configured on R6.

Correct Answer: D

Using the show running-config command we see that R6 has been incorrectly configured with the same router ID as R3

under the router OSPF process.

-

ip address 10.10.240.5 255.255,.255,252
encapsulation ppp

ip ospf hello-interval 50

ip ospf 3 area 0

ppp authentication chap

serial restart-delay 0

1

interface Seriall/2

description ***Connected to R6-Branch3 office***
ip address 10.10.240.9 255.255 255 259
encapsulation ppp

ip ospf 3 area 0

ppp authentication chap

serial restart-delay 0

1

interface Seriall/3

no ip address Q
shutdown

serial restart-delay 0 E

1

router ospf 3
router—-id 192.168.3.3

1
ip forward-protocol nd 0

no ip address
shutdown

serial restart-
1

interface Se
no ip addr
shutdOW\G‘

serial t-delay 0
1
inte C’Seriall/3
address
E n

ial restart-delay 0

outer ospf 6
outer—id 1082.168.3.3
I
ip forward-protocol nd
1
!
no ip http server
no ip http secure-server
1
1

QUESTION 5

If IP routing is enabled, which two commands set the gateway of last resort to the default gateway? (Choose two.)

A. ip default-gateway 0.0.0.0

B. ip route 172.16.2.1 0.0.0.0 0.0.0.0

C. ip default-network 0.0.0.0

D. ip default-route 0.0.0.0 0.0.0.0 172.16.2.1

E. ip route 0.0.0.0 0.0.0.0 172.16.2.1
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Correct Answer: CE

Both the "ip default-network" and "ip route 0.0.0.0 0.0.0.0 (next hop)" commands can be used to set the default gateway
in a Cisco router.
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